Telangana State Commissioner and Director of

School Education

Notations :

1.0ptions shown in green color and with " icon are correct.

2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name:
Subject Name :
Creation Date:
Duration :

Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :

Calculator :

Magnifying Glass Required? :
Ruler Required?:

Eraser Required? :

Scratch Pad Required? :

Rough Sketch/Notepad Required? :
Protractor Required?:

Show Watermark on Console?:
Highlighter :

Auto Save on Console?

Change Font Color :

Change Background Color :

Social Tamil 24th May 2024 Shift 1
Social Tamil
2024-05-24 13:42:42
150

150

Yes

Yes

Yes

None

No

No

No

No

No

No

Yes

No

Yes

No

No



Change Theme: No

Help Button: No
Show Reports: No
Show Progress Bar : No

Social Tamil

Group Number : 1

Group Id : 71505320
Group Maximum Duration : 0

Group Minimum Duration : 150
Show Attended Group?: No

Edit Attended Group?: No
Break time: 0

Group Marks : 150

Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No

Child Development and Pedagogy

Section Id : 71505386
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 715053143
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 1 Question Id : 7150532908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One of the following 1s the secondary motive
LilsiT6u (HsuamsuMH M50 sp6iTm)| SH16MsMTEHLL Hlemea) 26T HLD.

Options:

Achievement motive

| @ S ML) 290 HLD

Hunger

B3

Avoidance of pain

susll sllsVd HLD

Elimination of body wastes

2 L 50 51fley BHHID

Question Number : 2 Question Id : 7150532909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Development iz a never ending process” identify the relevant principle of
development

susii &4 sTsirug) sTUGUTSID pyaflvsurs FusGang. §sna
BUTHSSLTaT GF TErenHMIL JYHLILTHTLD HT WIS

Options :

Principle of Interrelation

CBHESWTaT BSTLTYS Clsrirens
1. %

Principle of Continuity

GlFwsd BT TFFS5 BlsTsrens
2.

Principle of Integration

PHMWLIUTL (& Bl&TsTen S

Principle of Individual differences

Sl L Gauniurl [H& GlsTsirsns

4, ®

Question Number : 3 Question Id : 7150532910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The second stage in Erickson’s Theory of Psychosocial Development is

sTT&sFeufl6iT 2 sm-Feips suemi FFullsir &) renTL_Tsugl Blems

Options :



Intimacy Vs Isplation

GBmHESL Vs sesflsnio

Industry Vs Inferiority

GlFwsy (pwnF Vs STipa|nsriiLiTsiTsm o

Intiative Va Guilt

. (psiTGlsar (R VS & meysnriey
3.

Autonomy Va Shame

Femsntismie Vs gjsusv Blamsv
4. &

Question Number : 4 Question Id : 7150532911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Carl Rogers, behavior is influenced by

ST Grranflsr &HSHILUY BL NS IWTETH STHHLD GlumIb
Options :

Genetic make up

wrLilwsy 2yenioriy
1. &

Self-concept

- &H60T & (Fd Hl (H5YU THHLD



Unconscious desires

2 6T 6T 61l (HLILIBIS ST
3. %

Enwvironment

&N NI FFHLpsL

Question Number : 5 Question Id : 7150532912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the following. identify that predicts the future attainment of an mdividual
with adequate training

Gurgiwrer udnd Gupp sefllulL mauT sHTETLSES FTHSGHD
Blsnsvanius ST (R
A)  Aptitude

BTL_L LD
B) Achievement

SmL_a
C) Attitude

LD&OT LI LI T 6T 6W LD
(Chooze the correct answer;

Fhwrer GlsMlsmausg Caieay OFils.

Options :

A & C only

- A& C o _Gid



C D'Lﬂj:

C @b

A only

3 ¥ A i (Hib

AB&C
4. %

Question Number : 6 Question Id : 7150532913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Army beta test 1s an example for

rremisu LT GaTay sTaTUSD & sTHSHISSTL (R
Options :

Verbal group intelligence test

GlurflsT Gup BiswenTHlays CHisy
1. %

Non-verbal group intelligence test

5 GurflsrrT (wFsms) &1 HiswTswrlays GHiey

Individual verbal intelligence test

i} Fof155 Glurflemt mamenryleys CHiey
3.



Individual performance test

Frfl55 BlFwsvF st Cxiey

Question Number : 7 Question Id : 7150532914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 15 NOT an example of Projective Test of Personality

lsirauGausmauppled gsiry, gepnme GUES UpsGspp 2 5515 Cotayse
SThBHIGHTL () gsDsv.

Options :
Rorschach Ink blot test

CrrisvFrand snwssL 5 CHisy
1. %

Thematic Apperception test

%(FSBWsOFTT (psiraarfleys GHisy

Children’s Apperception test

Wipsmev W ifsiT (psrarlsys CHiay

Minnesota Multiphasic Personality Inventory

WeaTGarTGFri_LT Lsh FBlsnsy oy Emsnio ST GHisy

Question Number : 8 Question Id : 7150532915 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Learning 1s formation of ‘connection between stimulus and response’ in the
nervous system, according to

FDDs0 TS, BILDL LTL ST FTaTL ) WHDID HlVBIFD (3)ememTeuTsd
BLLILSTHLD 6TawTd dnDliisui.

Options :
Thorndike
Gaianr_Gs

1. %

Bandura

5 % LiesT (T
Piaget
NwrGsr

3 ®
Kohler
o - o

4% Gsman blsur

Question Number : 9 Question Id : 7150532916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In this schedule of reinforcement. an mdividual doesn’'t know when he is going
to be rewarded

Bh5 suslufSH60 L L susmsnriiuig, Seflul L spmeui sTGUTS)
UTrTL L OUReui stard Glsmiwrg).

Options :

continuous reinforcement schedule

GSTLT sus)ILI(H 5560 B L susnsmnr

1. %
fixed interval reinforcement schedule
(pigey GFnuu’ L @GenL Glsuaf] sus)iLfhlSs6D 2L L susmenT
2. % '
fixed ratio reinforcement schedule
(pigey GFinuin’ L afl#STFEFTT sustILBS5560 L suemsmT
3. %
variable reinforcement schedule
P T Blemsy susPILILI(hSH60 L L 6 smewr
4,

Question Number : 10 Question Id : 7150532917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Human learning 1s always purposeful and goal directed and 1s essentially based
on one’s cognitive process 1s the essence of

el ST SHerlsiT SPMsL sTsiTLIF) TUGUTHICW M CHTESS S T
gy riumLwiGr Gavsslsr guiiumL wlGar gymwasTEn. B3
S (HoUHM LI 9 DlaySHeTS S 6L BL &G0, Ib5F BlFwsdpsmm

Options :



Trial and error learning

. (LPWSTI Seumls SMHms

Insightful learning

2 2 _GTeMTIiIG S S MsD

(Classical Conditioning learning

Fflw s_ROurhFri sHDeL

Operant Conditioning learning

S0 s HUurhFri sHmsL

Question Number : 11 Question Id : 7150532918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The propounder of ‘observational learning’ 1s
‘2 Hm CHETES FNHDsNY 2 (HeuTHSIsui
Options :
Bandura

UssT(RTm
1.4 &

Carl Rogers

HTisb Grragisin
2. %



Vygotsky

sl G&s T _sa)

Pavlov

usuGsomsy

Question Number : 12 Question Id : 7150532919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

According to Ebbinghaus. the amount of material forgotten after a lapse of 20

minutes 13

sildlsiramsusy  HHHZ0UY @m Gurmsmsty updu wng gnucr 20
Bl Eisehs G LG ) S6T jsrey

Options :

Question Number : 13 Question Id : 7150532920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Learning of Hindi helped the student to learn Sanskrit. This is
BhF Uy SEGHD WTNTUTH6T FLMF(HSL LGHHLEUTSH IYUTHEMmSEH 2 Fa0
b5 Bansy

Options :

Negative transfer

sTHITsmn L wrHnib

1. %
Zero transfer
| ugu Gwrpp
2.
Lateral transfer
- usssuTL (B / wrhn @)L wrHpib
Positive transfer
v Griws»m @)L wrHpLb
4. -

Question Number : 14 Question Id : 7150532921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the teaching learning process, identify that mdicates child centric

environment

sDUlSH60 —BDMY BLaUgSMBH6ML, GHUEMSMIL HOWLILHSHID GHLomsv

g;em!_mrrmrm ST H.

Options :



Teacher transmits the knowledge to students 1n the class

suGLliLisnpuilst g Fflwi wrewrsutHefsnL G 2 Hlswsult urtiyslnri.

Students passively receive information from the teacher

WwTewTsuTHst spf whswTar BlemeouwlGe yAfwiLwlFHhs SHsusmsvLl

> % OUDIBDTTEHET.

Students engage actively in the classroom activity

LOTsWTeUTH6T 6uFHLILND HL 6l SsmEHeile0 FRUFMILILTS FHURS DTTS6T.
3.¢

Teacher giving information from the textbook

L AT UTLUIY55555) 60 HHSI SH6UMeVS H(HB DT

Question Number : 15 Question Id : 7150532922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

An individual with an IQ of 40 is considered as
sp(Hsullsr pisrentiley Fay 40 o5 B mHST, Bsul
Options :
Idiot

1 % (pL_L_meir

Imbecile

2. v Tpha



Moron

B

- <) D] il 60]
Profound

4 % Gusms

Question Number : 16 Question Id : 7150532923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to Bruner, in Iconie stage of Cognitive Development, things or events
are represented as

Lemsriisr &M wsdlsituy 2 HeuBlsmsouilsy srewtliuBbh patn Ss0E P(H
plspallsr gynlsyFri susttfemwls UrslBslssisuliubssag!.

Options:

mental pictures

LO&UT LI LI LMl 5 61T
1. %

actions

BlFwe) F6ir
2. %

symbols

FlebTevT B S 60T



language

Glirif)

Question Number : 17 Question Id : 7150532924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Guidance’ 1s a process of

wb@cﬁn'l'_l_sij e;reﬁ'sTu_e_T;EErr HL_6) q.é;mas
Options :

giving instructions to the child

BHUBMSHiEHS S UfSTL S HDILLH6T F(F6USH

1.

teaching ethics to the child

BPHMSHEHSE YDEHH uppPls SHLtiLg
2. %

directing the child to behave in correct manner

GUbmesmerd FriwTeT psnnullsh BLHg GlsTsirerd GlFTsvsuzl
3. %

assisting child in making wise cholces

BHLUBMSHT FADHS sumliliysswsT BlsTey GlFilsusn@EH 2 S0zl
4, &

Question Number : 18 Question Id : 7150532925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following 15 the characteristic of Authoritarian leader
HFHTID  GQuUDD Fmeveuflsit varyssmsril  Llsitsu Hauarsupmlsy sty
GFTeiT HsTemSl. 95

Options :

leader instructs members what to do
smevalt  Farx e pudlarissnsE@ oerer  GFiw  Geausw(H6wer

S YDISSIS DT
1.¢

group members tell the leader what to do

@i o miflartsst stsiter  GFiw  CsusiTRGIWaT  Samevsui S HbGHF

5 % GlFTsLF D TTH6T.
leader discusses with members for doing any activity
smesUT 6ThE BLaulpsmEmil SunblETarausnFHn o nuldlsarisGsrrh
H bd bLallg D dDG i b
allsuTFlsa DT,
3. %
leader works together with members of group
- - - 0 7 z Ill': = w - x
) w Femsvsut 2_miiflert HupGsur® GFihz usniwTrHoIA DT

Question Number : 19 Question Id : 7150532926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Right to Education Act. 2000 received the assent of President of India on

sevall 2 Msmws L1, 2009, Bssus GuuTHs Smevsutflsr pliyss Gunp

T4



Options :

26 August — 2009

26- oyib G4, gy s -2009

1. &
24t January — 2009

- 24— a0 G54, smersurl -2009
26 September — 2009

- 26- gip G55, GlFabui -2009
26™ Qctober — 2009

n 26— b G55, Hs&GLmTui -2009

Question Number : 20 Question Id : 7150532927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(One of the following 1s the simplest form of thinking

UlsiTeupeusmsunnist speirm) W& sTallswwwTer FhSmarsniud ST HFE DHI.
Options:

logical thinking

_— FTEs FbFHsmer

creative thinking

5 % BB b 5 6m 607



concrete thinking

SlL_Lomer Fb5emerr

critical thinking

LGLUumTilieyF FBbS5emer
4, %

Question Number : 21 Question Id : 7150532928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Retention time 1s extremely brief in
Blsnsy BIMISSILIGID 96mey WSS FHMDAITS 2 6T6T Blsms
Options :
episodic memory

| % H6M S BleneiTey

photographic memory

YemSLILIL Blsnsrey

par ELIICII'HIII]. mMemory

Friry @) wsvy Blsnamsy

sensory memaory

L{SUSITFTT Blem sy



Question Number : 22 Question Id : 7150532929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement with regard to ICT based learning
F&ausd BlpTifsy ML ub (ICT) sriBs sHme FD55 Frlurear s Hswn

&)W L_WITETLD & T 65T &.

Options :

It supports the learners in the learning

Bz smmsblsv sHBUTHSHS HlewewTy TS DS
1.9

It replaces all other forms of learning

B)s sHMeOl6T HM eTEVELT BlssUSH EHS FLL WTHDTH DS

2. %
It 1s equivalent to all other forms of learning
B)a1 sHMsClsiT NHD 6TLEUT BlsMeV S EHSH FHLD HlSTTT S
3. %
It 1s a superior form of learning when compared to other forms of learning
Ba1 sHpadlsT wHD sTeLEOT BlsmevEamsmiyld aflL_ayb GsTars)
4., ®

Question Number : 23 Question Id : 7150532930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify. which of the following 1s NOT a purpose of developmental tasks

LilsiTeu (Heussummlsd sTg suswiFF @) Husnfluilsir Grrésid @)svamsy.



Options :

They guide parents what can be expected from the children at different
ages

SHlpbmssafsiT GlausuGauml suig BHlsnsvHarlsw g sul el LLOl(HbSI TsiTaT

ST UTTSSEOTLD 6TTUSD HLU ClUDEDT (HEFH jswsu sulflsTL (HFlsTme.

They help teachers to segregate children as per their development and
assign age appropriate tasks

o AT ST, WTeMTaUTHemaT 2fsuiTHeilsir susmiF4 g litisnL_uilsd

Uifl&sayb, suigiéE THn @) HusntsansTsd STaylh ojsnsd 256 ST DET.
2.

They serve as motivational forces for children to learn the expectations of
social groups

BLhemSHer L LO(HHE FepsHd @ (LSBT 6T6ITs 6THIT LITT ST e Gsum

SjUMsND 2914 Gl G0 Djemeu LIsWT LT LIS 6T DeT.

3. %
They help to provide opportunities to children to learn and adjust
BLUBMSHET SHUS VD SRISmeTF FTLUBHSH S ClHTaTsuSla)D 2 snsu
SUTIILILHEMST SULPEIF] 256 S 6T 6.

4, ®

Question Number : 24 Question Id : 7150532931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This indicates that the child is not ready to learn
BYHsns SNUSD H 2 WSSLTS FsDemey sTedTUsnSS ST (Haugl

Options :



Disinterest

eu L0 65TEm LD
1.9 2

Interest in learning

HHmellsh &y TeuLD

Sustained interest

51353 2 aub

Intrinsically motivated

o FrelsOUITS 29T HLD

Question Number : 25 Question Id : 7150532932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the following statements, identify the correct statement with respect to

individual differences among 1dentical twins
255 QrisnLwissflsir sefuu’ L Gaunpurfssr nl5s Llsirsmib
ﬁjﬁgéaas@f,sir FiTWITssT &a,_;_r')mrn_’; @]eml_mn'sn'm & TEHTH.

Options :

They are same genetically and environmentally

- wry sufluilspib &nHmnidF@Eweilaib 2sulHsT ) s enTiLTesTsulSeir.



They are different genetically and environmentally

wry sufluiflspid FHNIFHLsOlavib oysutsst Glousy Gsum TsTeutHsir.

They are same genetically but may differ due to environmental influences
Bjeuisst wry sulfluilsd [B)smenTiLrsiautSHeir. 9y aTTsd &DMIF S LoD

3 v BTHEH55Ts0 GaumiLIL smiD.

They are different genetically but same environmentally

gjsurssr wry sulfluilsh Gaumul L suis6r. gpsrms pGr alswmear
FDHMIFGSLpsmsoll GluD D (HLILTT SsiT.

Question Number : 26 Question Id : 7150532933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following 1s NOT a guideline of (NCF) — 2005
LilsiTsu Heusmsun s spsitml GHF s savalls Glsrsrensuilsr (NCF)-2005
sulflsTL_HFe (3)svsmev.

Options:

connecting knowledge to life outside school

usirsfls @ GlaustlGw @) /& He 2 svsns Bl Gsurh Benswriiug

connecting knowledge to four walls of class room

s LiLsmDWilsiT BTsiT (@ Fou(Hd H6T D Diensuy F)smemTiiLig
2.



maling examinations more flexible

Gaisymsenar L% GEANpFF GBTEHTL STH D IOLILIF)

learning 1= shifted from rote methods

SN DL weartuTL wsnnuwilsd /B wrHnwsnLSng
4, #®

Question Number : 27 Question Id : 7150532934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following. which act of the teacher DOES NOT help in improving
divergent thinking among learners

UlsiTsu meusmsumlsd gy A flsir spf GlFwsd W mswreui Hermlsit allflsursr
Fihsmerenil GubUbss 2 SaTHl.

A) giving the activities that have scope for abstract thinking

9 (s aﬂ'rf;gmmiaarrm rsu-’ru'_lL'.rLlﬁirmT ,I'_!')l_E]JLq_-:iiEtF]diﬁh'ﬁlﬁngl g,@g,s‘ﬂ
B) asking the questions that have uni-directional responses

!

@, sulfl Friy wnGurflssTar allarrssmard GHL L 6D
C) asking factual questions

2 _aenied SHausDEsT &g liusnLuilsd allarrsssr GHL L sb
D) giving assignments to bye-heart the material

urL U Glurmsner weaTluTL LD GlFyh susnsullsy B Husni Hss0.
Choose the correct answer:

FrlwTer GaTsmsus Csiey GlFls.
Options:

ABC&D



A.C& Donly
A, C& D o _(pib

B.C & D only

B.C & D o (pib
3.¢

A B& Donly
A, B & D wr @b

Question Number : 28 Question Id : 7150532935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The purpose of using the Case Study Method in knowing about an individual or
institution is

FHIUL L pHauT 6060 @(f B NIsuaTd unyiu 56155 o iley Lpswnillsr

GBrésiD.
Options :

to get quick results

CausTs (PigaHsnarl Glunisusn s

to study 1n depth

, o DBPOTE0 UROUEDHE

to aszeas only weaknesses

3 % LUl e Tei Blemsvsnil WL (Hib gjsmailL



to understand quickly

Gouswrsll Yiflhs 6lsrsirsr
4. %

Question Number : 29 Question Id : 7150532936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Childhood 15 called the ‘ideal age’ for learning motor skills. Identify that DOES

NOT reflect the zaid statement

BUhmaLl LHawTars), 2 L Blusss sinsiTsmsrs sNUSNE THD sullF]
6T Y MWEHLILBFDG. Bb5S FHSSH THOTTHEETS FMhHHD WL ILTSITLD

& T 60T 6.

Options :

Their bodies are more pliable

SUTHTH| 2 L 1bL] sTalFls0 susmsmh gl G5 T(Hid 0

1. %
They are more adventuresome and eager
5 % S|sUTH6T FlenllFFOTSNLD YT 6u(LpsiTsmeuT SemTSaYLD (&) (HLILITT ST
They enjoy repetition and practice with enthusiasm
. G auisst uiinFssners S HUF GlFiIsuFlsw afl({LULILD GOl TsTsuTiSsir
3.

They learn under pressure created by the adults

4. S UTHsT ApSCHTTITsY STULHID H1pSS5HSHTe0 SDLITT S 6T



Question Number : 30 Question Id : 7150532937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Reducing the play time to children because of their low achievement in
academics 1s an example for

GLbsnsHsT LI LILils) FHmDbS FTHNaTHMaTL GlLDMISTETS T &)U H6T S
silemsmur_ () CHrimas HMMLILIF sTHTLIF.

Options :

Negative Punishment

1 ¢ STHIT DS NS HEWTL_sMEIT

Positive Punishment

GBTsm DS F60TL_snaur

2. %

Negative Reinforcement

STHITLDSMD sus)isyl” L s
3. ®

Poszitive Reinforcement

ChTisnD susia,L L 60
4, % -
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Sub-Section Id : 715053144
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 7150532938 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 7150532939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id

: 7150532940 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150532941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150532942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 7150532943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053145
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Question Id : 7150532944 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)
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Sub questions

Question Number : 36 Question Id : 7150532945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 7150532946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150532947 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
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Question Number : 39 Question Id : 7150532948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150532949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 7150532950 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 42 Question Id : 7150532951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150532952 Question Type : MCQ Option Shuffling : Yes Is
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usFlFERmay Beafl GFEriLF GFrii0 urgw Safluse’ sTeirm  Werrl#

FHETOTTITE UTTTL L OUC L eui
Options :

BLoLilwrssnrri B
1. =



FHSTI

2 ®
LD T 60T | & &5 68 TF BT
3. %
Grsalpri
4.

Question Number : 44 Question Id : 7150532953 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 47 Question Id : 7150532956 Question Type : MCQ Option Shuffling : Yes Is
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Question Number : 48 Question Id : 7150532957 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150532958 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150532961 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150532968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Instruction Time: 0
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Clear Response:
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the questions from 61-63. Choose the correct
option for each question.

The curiosity which makes us come out of our room and leave our study when we hear
uproar in the street holds mirror to our anxiety about our fellow beings, though verging on
sentimentalism. Apart from that, this reduces the tedium of work. breaks the spell of boredom
and engenders in us new energy, and we go back to our work with revitalized interest.

How curiosity develops our personality and intellect can be best known from the study
of Wordsworth's and Shelley's lives, Wordsworth's curiosity led him to love nature. Whether
it was the enigmatic sound of the cataract or the rustling of the leaves he fed his senses to
satiety and gave us wonderful nature poems. Shelley who used to make startling experiments
like an Indian magician expressed hus love for what was not traditional. And his poems and
life are only a vocal expression of lus fondness for the unusual curiosity of Keats kindled by
his first reading of Chapman's Homer made of him a poet of unique imagination so much so
that the sight of a 'Grecian Urn' could inspire him to write a wonderful ode.

In fact much in literature and art is curiosity translated into singing words, immortal
characters and wonderfully eloquent pigments or stones. It is, however, a different thing
whether their curiosity to know and understand and to unravel the mysteries of human nature
was 1dle or otherwise.

Sub questions

Question Number : 61 Question Id : 7150532971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement as per the passage.

Options :

Curiosity reduces the tedium of work, breaks the spell of boredom and engenders

1. % 111 U5 NEW SnNergy.

5 % Curiosity develops our personality and intellect.



Curtosity 1s translated into singing words, immortal characters and wonderfully
eloquent pigments or stones.

Curiosity may be the one which does not help us know and understand the

mysteries of human nature.
4.9 7 ‘

Question Number : 62 Question Id : 7150532972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘mysterious’.
Options :

1 % fluent

enigmatic

3 % immortal

cataract

Question Number : 63 Question Id : 7150532973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The author of the passage says, “Apart from that, this reduces the tedium of work...”
Identify the meaning of the word “tedium.”

Options :



dullness

curiosity

attraction

mystery

Question Number : 64 Question Id : 7150532974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Whether 1t was the enigmatic sound of the cataract or the rustling of the leaves he fed
his senses to satiety and gave us wonderful nature poems.” Whom does the author talk
about here?

Options :

Chapman
1. %

> ® Keats

3 ¢ Wordsworth

4 % Shelley

Question Number : 65 Question Id : 7150532975 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage, who is the author of the literary text 'Grecian Urn'?
Options :

Chapman

5 % Shelley

3 % Wordsworth

4. Keats

Sub-Section Number : 2
Sub-Section Id : 715053148
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7150532976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The old woman to the temple every day.
Choose the correct option to complete the sentence.

Options:

1 % came

5 % has come



3 w come

coInes

Question Number : 67 Question Id : 7150532977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct word to complete the sentence.

Presently, the problem 1s that industries set up in the backward area because of
the concessions offered there.

Options :

1 % be

are

4. % Wwas

Question Number : 68 Question Id : 7150532978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After their graduation, his daughters are searching jobs.
Choose the correct word to fill the blank.

Options :



for

ovVer

o1l

n

Question Number : 69 Question Id : 7150532979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Yesterday. I met him 5 PM.
Options :

1 % SO

OVer

Question Number : 70 Question Id : 7150532980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

They were for the bus, when the accident occurred.
Options :

1 % wait

5 % waited

waiting
3.¢ T

4 % Waits

Question Number : 71 Question Id : 7150532981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :
restarant

restaurant

restaurent
3. ®

restraurant



Question Number : 72 Question Id : 7150532982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct Passive Voice sentence for the given sentence.

‘The two warring groups announced ceasefire’.

Options :

1 ¢ Ceasetire was announced by the two warring groups.

Ceasefire announced by the two warring groups.

Ceasefire has been announced by the two warring groups.

Ceasefire had been announced by the two warring groups.

Question Number : 73 Question Id : 7150532983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option to complete the following sentence.

The son likes going for a walk,

Options :

do he?

1. %

5 % don’t he?



3 % does he?

doesn’t he?

Question Number : 74 Question Id : 7150532984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The children go toschool onbus.
A B ( D

Options :

Question Number : 75 Question Id : 7150532985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It I the Prime Minister of India. I would eradicate this problem.

Choose the correct word to complete the above sentence.



Options :

Were
Rdi

wWas

32,51IS

will be

Question Number : 76 Question Id

: 7150532986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the verb form to complete the sentence.

A: When did you come from Delli?

B: I trom Delhi yesterday.

Options :

1. % come

2 % coIes

3. came

have come
4, %

Question Number : 77 Question Id

: 7150532987 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the subscription which 1s NOT appropriate for a formal letter.
Options :

1 % Yours sincerely

Yours affectionately
2. Y

Yours faithfully

4 % With obediently

Question Number : 78 Question Id : 7150532988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The driver 1s __man.
Options :

an honest
1.9

a honest

the honest



honest

Question Number : 79 Question Id : 7150532989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The shopkeeper feels gloomy due to the strike.

Choose the opposite word for the word “gloomy.”
Options :

1 % sad

5 % unhappy

happy
o

melancholic

Question Number : 80 Question Id : 7150532990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.
A: The passenger ran fast.
B: He could be able to board the train.

Options :

1 The passenger ran fast. so he could be able to board the traimn.



The passenger ran fast. but he could be able to board the train.

The passenger ran fast, however he could be able to board the train.

The passenger ran fast, if he could be able to board the train.

Question Number : 81 Question Id : 7150532991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The students are eager to learn.

Choose the synonym for the word “eager.”
Options :

lazy
1. %

keen

indifferent

4. % dull

Question Number : 82 Question Id : 7150532992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the silent consonant letter in the word *debris’.

Options :

1. % d

Question Number : 83 Question Id : 7150532993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The naval exercise will include a large of ships.
Options:

1 % bunch
heap

. pride

4. fleet



Question Number : 84 Question Id : 7150532994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option when the jumbled words are ordered.

die/ would rather/ up/ She/ give/ than/ her freedom

Options :

She would die than give up rather her freedom.

5 She would rather die than give up her freedom.

3 % She rather would die than give up her freedom.

She would die than rather give up her freedom.

Question Number : 85 Question Id : 7150532995 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an open-ended question?
Options :

1 % What time does the movie start?

What made the potter angry?

3 ¢ Why do you think that the potter 1s really brave or lucky?



Who is driving the car to the temple?

Question Number : 86 Question Id : 7150532996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding Formative assessment at the secondary level in
Telangana State Board.

Options :

The average of four Formative assessments 1s added as 20 % of marks in the final
1« results,

The average of four Formative assessments 1s added as 30 % of marks i the final
> % results.

The average of four Formative assessments 1s added as 40 % of marks in the final

3 % results.

The average of four Formative assessments 1s added as 50 % of marks in the final
results.
%

Question Number : 87 Question Id : 7150532997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the true assumption of language learning.

Options :



Language acquisition 1s a CONsc1ous process.

Language 1s acquired not through recurrence but through repetition.

Learners’ first language plays an important role in learning of other languages.

All teaching strategies will work with all students

Question Number : 88 Question Id : 7150532998 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Use of polite and entertaining expressions’. This 1s a feature of the following discourse
Options:
Biographical sketch

Compeering
2.

3 % Letter

. Essay

Question Number : 89 Question Id : 7150532999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Example for ‘realia’
Options:
DIKSHA e-content

Blackboard

3 ¥ Handerafts

4. % Textbook

Question Number : 90 Question Id : 7150533000 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The best way of comprehending the unfamiliar passage can be achieved by allowing
learners to

Options :

use smart phone to understand the passage easily and quickly.

write the passage twice in the notebook.

guess the meaning of the words and sentences in context.
3.¢¥

refer a dictionary to know the meanings of the words 1n the passage.



Social Studies

Section Id : 71505389
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053149
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 91 Question Id : 7150533001 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of the given temperatures i the ascending order

GarBHssuul_Hsrer GlauliLpblsne isTensussnsr TS S5S 6L FWTST
suflensuilsh oemwbHisTarsnss w1 s.

(129C, -16°C, 299C, 0°C, 49C, 19C, -19C, -49C, 16°C)
Options :

09C,-19C, 19C, -49, 49C, 129C, -169C. 169C, 299C

1. %



~169C, —-49¢, -19¢C, 00C, 19C, 49C, 129C. 16°C, 299C
2. ¢

~19C, 49C, —49C, -16°C. 0°C. 19C ,129C. 16°C. 299C
3, %

2080 1690 1290, 490, 190040 1Y 4% 1678,

Question Number : 92 Question Id : 7150533002 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

When it is 2 pm at ‘X' located at 45 Eastern longitude, the local time of a place ‘Y’
located at 45° Western Longitude is
wgwib 2 wentwsraflsd X' srsirug) 45 A0 fpsz KonGsTi s @ HHSTD, 45
& Gung BmnCsriiys 'Y asrugl G Hs@w Cursrar Gk
Options:

6.00 am

HTemev O Loewst)

8.00 am

5 @ HTems0 & Loswwl

§.00 pm

3 % Brsy S wew]



6.00 pm

4 % wrsns® O et

Question Number : 93 Question Id : 7150533003 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement among the following regarding the Internal Structure
of the Earth

yuiluflsir 2_sremsnwlisnut uHplé GsTHESILL HTaT FmhmidSer s

2 SN IDILTETNSS HemrL s

Options :

The outer layer of the earth 1s known as Mantle

Lpuiludlsit Glsusi] g BHsE B)swLufsns star HowlubB$ g

The crust 1s mainly composed of Gold and Ferrous

uulullsit Gosh pf) pSFWwTs SRS wHMID F) Hoyl GlurHL serTsy
2. % A

The density of the material in the mantle iz more than the density of the
material in the outer core

yuluflsir @sntiu@snsuilst B)ms@Hw ClurmerflsT gL 55 Luluilsr

Glsusifiiuriilsy @) msFHh Glurmlsensralll 2 F)%0TaTHTHL0
3. %

The outer Core of the earth 1s composed of liquid metallic material like Nickel
and ferrous

yluilsit GlaustiviLriiy Slrsu suig alspisiter Bléss whmib &) mibyL

GIUT(HL_SsmsTd BlSTsTL ST HLD.
4.



Question Number : 94 Question Id : 7150533004 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per the Geologists, weathering, erosion. transportation and deposition are

responsible for the formation of these landforms
yaflullwsorsrilsir & HB Iy, suTaflsnsy, iy, @)L rHmLb, Ligey
THURusDHS STremrd B)bS BlevBISaflsr &mwLliLmEGL

Options :

The First order landforms

(LpSFH6L BlsWsV BI6V 56w LOLILIT(ELD.

The Second order landforms

B renrL_Tib Blewew Blsv LyemoLILITELD.

The Third order landforms

FPSITMTLD BlsWsy Blsv 2emLOLILITFHLD.

The First and the Second order landforms

(LpFHsD Blemsy LHMID G)renTL b Blemsy Bls0 gjemoliLTELb.

Question Number : 95 Question Id : 7150533005 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The Himalayan Mountains were formed by this process of

BluwwmaselSTLT mbsNSTaT BlFisd
Options :

The Eurasian Plate pushing into the Indian Ocean.

2Grrflwsit Guh BBl GlLmHhISELsnevd SHsTsi ST (EHLD.

The Indian plate pushing into the Eurasian Plate

P BAbhFw Cuh mCrrfwst Sl swL_F FeirsilsTEHLD
2. il E

Rising up of Lava from the Mantle

L ulluflsir @)snLDuBsnsullsdmng stopniln ursmns @LpbLilerTsd

Sea floor spreading

4 % SLs0 uriy sl STsd

Question Number : 96 Question Id : 7150533006 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the items given under ‘I" with the items given under ‘II’

T wilsb Qsrpssiu’ Hsrsraupsop ‘1T ullsd GarHssuiuc RerersunEnr

AN EAES
|
A) Loo
ar

B) Chinook

FCarTH

C) Mistral

LBls01g 1)

D) Pampero

uGuGrT

(Choose the correct answer

11.

111,

v,

II
The cold local wind blows from the Alps mountains over
France
0L wensF FHT53) 60 MBS

Ulrrersiv g af &b 2_sresmi GsflrsTHHI.

The Hot local winds that move down the Rocky
Mountains i the USA and Canada

I 6TSN6T DN MILD HETLT

BT(H&s s UTsnD Wwensusarf sl (HhFl 1 CHTHEH af b
2 sirespi Blsuliug sTHMI

The Cold local wind blowing very fast in the pampas
region of South America

Q36T 9 GwiflssTalst ubuTs

LES s s Gauswrs af#b 2 sreshT GslT STHDI
the hot and dry local winds blowing in the plains of

North India

suL @bgwrallst Fio GlsusiiLl
LGS uilsh af F1b 2 siresipi GlaulILILDTET QUDSITL STHDI.

Fhiwrsr silswLsnws Gl5flsy GlFiis

Options :

. A-iv, B-1. C- 1. D-m

> % A-iv, B-1i, C- 1, D-n

A-1v, B-11, C- 1, D-i1i

3.¢¥

4,

e A-1v, B, C-n, D4



Question Number : 97 Question Id : 7150533007 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

These forests are found in the regions near the equator and close to the tropics

BBHE CHT_ R E 9 mFED Glauliu wamr_s53DE 2 msTsnwiilaib

FTemTUIL(RID Fm(hHsir

Options :

Tropical Deciduous forest

GlsuliuweaTL s BsnsvSTs ST(hHsT

Temperate Evergreen forests

Glsuliuplensy uFeSE ST(HH6T

Tropical Evergreen Forests

Eleu LT 60 LUFenind & (hHsr

Coniferpus forests

Fn iDL sU1geud HTIIS HT(HSHsT

Question Number : 98 Question Id : 7150533008 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Identify the Equatorial Crop among the following

LilsiTsufesusamsuHmlsy Blsv BHSECHTL R0 Luulli sTHIGlsusrs S pls.

Options :



Rubber

1. ruLnm

Cotton

SIUEE

Jute

FETTEL

Tea
Gsullsmsv

Question Number : 99 Question Id : 7150533009 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Industrial locations are concentrated at the most appropriate places where
BsrifinFrensussr sl GQUTHSSwreT @)L missTst 2emwsSsLIL 6 S 0STsT
STT0TD HBIGH

Options :

All the factors of industrial location are either available or can be arranged at
lower cost

CBTIAINFTMES 6h% HS CFsmeu L TaT suFFlHsT B HLLFZID D0 HDDHS

- BFvalsy sroUBS3% BB T6TaS LTS,



The raw materials for the particular industry are available in plenty only

20 GUUULL Gsrifinsramss®Hs Comaursr aApsoll GlUTHL ST Blrbus

AL LUSTALD.

The cheap labour 1s available in plenty only

- Blsnniws Glsriflsorsmi st Hsmmbs Fnelliwilsh SlenL L% TaLb.

The transport facilities are available for transporting goods conveniently only
GluTmHLsamerd GlsraT(h GlFsusn @ aTHn CUTSGHuTSSH UFS

B mlusTaLb.
4, %

Question Number : 100 Question Id : 7150533010 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Among the following. these states of India are sharing the boundary with

Telangana State

Ulsireu meusmsuHmlsd, GsaidisTarT wrBlsCsTH SRS TelmaBMETLI LIS B3]
BlF T6iT SIHLD LT H)6UEI H6iT

Options:
Andhra Pradesh, Karnataka. Maharashtra and Chhattisgarh

| B0 UHrGssib, STHTLST, IDSETTT6EIY T'T WHNID F5F 05T,

Andhra Pradesh, Tamil Nadu, Maharashtra, Odisha

. B0 HrGssib, SWIPHTH), WSTTTaL TIT LD DILD spLgFT
2.



Andhra Pradesh, Karnataka, Maharashtra and Odisha

2B rGs#ib, T HTLST, DSTTT6iLly TT LOHIYLD splg FT

Andhra Pradesh, Karnataka, Maharashtra, Chhattisgarh and Odisha

BT LIrGs#1b, STHTL ST, DSTTTEIGTT, F55 VST WLHNILD PLgFT.

Question Number : 101 Question Id : 7150533011 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This city of India has emerged as ‘the Electronic capital of India’
Bihswrallsit @65 BSTL (B HS W Taller WlsiTet wedlsT SmabETTHS
SHSUUBSIDSI.
Options :

Hyderabad

1% SMEDHTTUTH

Amritsar

9| 8T HFTE

Pune

L Geor

Bangalore

4 GlLIkI SHesm T



Question Number : 102 Question Id : 7150533012 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘Solar Insolation’ means

@G 3 smswrLiL) sTeirLISsir BlLIT(HsT
Options :

The energy that 1s constantly emitted by the Sun

GTwaTTsl GSTLTHH SlewL_&FHLD 2DHms0

The Solar Radiation received on the surface of the earth

wulluflsir Gopuriyy Glupnd Hflws sglTalFx

The angle at which the Sun’s rays fall on the earth’s surface

L fluflsit Gopuriiilsh @&fws s351TssT afl b GsremTiD.

The amount of Solar Energy radiated back into the atmosphere by the earth

& Sppmesots Cupmi, Ll w55 ST SHDIFGHPRISEGS SIHULLD SjeTey

Question Number : 103 Question Id : 7150533013 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The southernmost tip of the Peninsula Plateau is

GlsmE wemeTliuF HSwilsh genwhgisrar $usnu Gl ({ Blsvb

Options :



Malwa Plateau

wrsdsuT G [ Blevib

Aravalh Mountains

S TeuTsll S (60T 1)) % 6T

Chota Nagpur Plateau

CarioLm préyi Gwl({ Bl

Kanyakuman

5T 6T fl
4V & 65T 60 ILI T (55 LD

Question Number : 104 Question Id : 7150533014 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Identify the working capital among the following

Lilsirsu meusirsun st G sTiflsy GlFisusnsTar 1pHst 6 stensubliuaTs ST 15,
Options :

Tools. machines and buildings

& (HadlSsT, BWBSTRISST WHMID S 19 L BISHST

The raw materials and money required

sl GIUT(HL_S6T WHNID CHemeuIITssT LiswTLD
2. ¢



Technology and enterprise

GlsTiflsv B LD H DD suswfls5 65 Tiflsh

Planning and management

. S L 1fl[5e0 GusoTsimsenio GlFilHs0
4.

Question Number : 105 Question Id : 7150533015 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

During these three months, the Tundra regions are almost dark

TS FPSITDI LTHBISETHTEUTS ST UGl Clumbursn @) wlorul s o
§Te0Td HTL 1%

Options :

May. June and July

G, soD6iT HMID 23 Dsmev
1. %

November, December and January

BeULDLIT, 13 FLbLIT DHMILD 2oeTsu]
2. ¥

March, April and May

Wi, sTUrsy wHmb G

August, September and October

4% g &L, GlFULbui wHMID HEELTur



Question Number : 106 Question Id : 7150533016 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The amount of invisible water vapours present in the atmosphere is known as
sualfloenTL 05 Fls) HTemTUIURID Samams s Csfwrs Hrraluilsr gsray

2 5m L S LI (Hau GI

Options:

Humidaty

FFTULISLD

Condensation

g ail BTl GlurmerTssd

Evaporation

Brrailiurs wenpnsst

Precipitation

wenipl) Lssfits Glumifley
4, %

Question Number : 107 Question Id : 7150533017 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
From among the following Group. the countries bigger than India in size are

LilsiTsuHausrsunnlsy, sThss Fapallsyisiter BrHssr @) HSwrallsr Baoriuriy
=ysmsnsy sllL_t1 Gluflwsmsy



Options :

Canada, Russia, Thailand and Brazl

FHETLT, TaguT, STilsurhg wHmib LGrfsy

Ruszia, United states of America, Indonesia, Brazil

TegwT, 2EF W 6lwfss Brhsst, @HEsrCaradwr wHmib HGrfls

Australia, Canada, Brazil and United States of America

v g aFlGraflwr, searLr, UGrfsh wmmnib o&£lw 6lwfss BrHssr
3. ¥

Australia, Brazil, China and Indonesia

s glGraflwr, UGrslsy, Farr wpmit B)5GsTCaradwr

Question Number : 108 Question Id : 7150533018 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In 1774 CE. the representatives from 12 American colonies met at this place to
protest against the British and requested the King George III to restore their
previpus rights
1774 gyib gy simigsd 12 o6wfsss srsvaflulls Urslesssr
2 BIF G TS EhE0655 TTHL CUTTTRuUSHSTS, B)hS BLSF0 Fmly HTaFtT
sorisv 111 @)Lib smissr o flsmwsmws mou gyeflsss Cariant. b FLb
Options :

Georgla

_— sTTFwr



Connecticut

5 % Hblerdiy S

Philadelphia

eoG_sowmr

Maszsachusetts

LD 6V &F T &) 670 L_ai)
4. ®

Question Number : 109 Question Id : 7150533019 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The collection of taxes namely ‘Tithes and Taille’ were associated with this
Revolution

‘FlFlsiv wHnIb snLs0Ge’ sTsiTm) su@EeflSs0UL L suflssT Garfysniw yri &
Options:

The American War of Independence

. 9 Clwiss allhssmsons Gurt
1.

The French Revolution

5 UGrepar Y&

The Glorious Revolution

- TSSO Y F



The Russian Revolution

4w Brsigwic Yy #

Question Number : 110 Question Id : 7150533020 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The person who helped Akbar the Great in framing a vision of Governance around

the 1dea of ‘Sulh I Kul’

HEUT CUITFRES Fi0d 2 G HHBSF WD Ly YsTausnHTar G5Tamsy CHTdHEHL

LI sm&u a1 I mqmmmgﬁ,gsﬂﬁ'
Options:

Jahangir. Akbar's Son

9|5 LTI ST TaT 2anTEIS T

Tansen of Gwalior

GoumsClwTlsit STeiT 6 Fsir

Abdul Rahim Khan I
SjL1g|s0 Tarfib Sreir

Abul Fazal

gp_psl: LI &Fs0
4,

Question Number : 111 Question Id : 7150533021 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The seven tombs of the Qutub Shahi rulers marked a unique architectural style
which was a mixture of
GEIL apran] g fwrsrisaflsT 7 H00mDET 6Th 0SS LHImWTST SLL L &

MU ILlsIT HevemeuHaiicd 2y sTeMeY
Options:

Persian and Hindu Style

| @ Gluradlwst wHMID @HHIE Hensvalg suLD

Gandara and Hindu Style

STHSTIT WHOID B)HSHI%E FemsvallgsuLD
2. %

Indo-Sarcenic Style

B GCsT- FTaHTeE HeMevsulg suLD
3. %

Indian rock- cut architecture Style

BbauTaillsT UTenD FHNL FmeUaILg 6ULD
4, %

Question Number : 112 Question Id : 7150533022 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Rights of a person arrested under ordinary circumstances is laid down in the

(H FTHTTEMTOTAT FLpsdlst snsz GlFLtLEID §F Ul 2 flsnwwmsars)

R



Options :

Right to Equnlitlv

| % FLo 2_flsn 1SS TaT HH5HFTD

Right to Life and Personal Liberty

SUTIP&Y WHMID STHUT 2 FlenlnsSTar &F5hSITiD

Right to freedom of Speech and Expression

Cu&siflenio WHMILD 6TPSHITsM 0SS T FHHS TLD

Right to Constitutional remedies

FLUL & HTeydssmer 2 _flenio

Question Number : 113 Question Id : 7150533023 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the incorrect statement regarding the Legislative
Council of Telangana State

Ulsitsumeuamsunylsd, GBS TarT wrblssglsr FU L Guwsmausmul unpyiu
SUNTET FnNN)I 6THIGlsusTd HaTL1jls.

Options:

3 members to the Legislative Council are elected from teachers
FU L Gusvsnsuuilsit 3 2 mitiilert seir o F it ermsy

CarhblamssiLbBS DTTSsT.

2. %

:Yes



3 members to the Legislative Council are elected from Graduates
FU L Gusvsmeuuilsit 3 2_muiiilertssr ul L sriflsarmsy

e gAAE IO EANNIOE A Y= 1

16 members to the Legislative Council are elected by the members of the
legislative Assembly
FU L Gusvsmsuuilsir 16 2_nuinilartssr #U_LsauuilsT 2 piiilerTssrmsd

s hel5HSSULBEDTTH6T.
3.¢

6 members to the Legislative Council are nominated by the Governor

FU L Guwsvsnsuuilsit 6 2_miuiflert ST Seutarrmsd BlblssOub S nTiSsr.

Question Number : 114 Question Id : 7150533024 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the incorrect statement regarding the Unification of
Germany

Ulsireumeusrsun sy, GlarwaflullsT @masmanTiy unyliu SuDTaT F DN

s3I GleuaTs SarLmls.

Options :

Till 19% century, Germany was divided into number of small kingdoms and
they were part of the Holy Roman Empire

19 g ib promTew® susnr, Fny An Yrassrral Ufss0ul 13 (b5
GlumuTsuTer Gl iwsf, Grrwsit Gurrdlsr uF I wTs F)HHSHI-



Rhine Confederation was formed with 39 kingdoms

smreir CpFsIm L Lanwliy 39 gyrasmers GlaTawm R ymwssrur LS.

A customs union called ‘Zolloverein® formulated some trade rules for free
trade. economic cooperation in these kingdoms

B65 o THHaTs CagrGamsufsiT eTam 9 snpSSLILIL L suswilS spsit MIILD
FHHI TOTET sUshTSSI NBTHNLD GILUTHETTSTT phHisnpliLlHSTHeYLD
susMTIB535 MBS Tar sllFSHemsT sTHLIRSS WHI.

3. %
Ems telegram was associated with Austro — Prussian war of 1866
Ems 53] 15836 @)sv pL_H5 2 srol_Grr Glumaduilsir GurGrm{
GlasTLiysnL_wF).

4 =7 Y 3l

Question Number : 115 Question Id : 7150533025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In most of the Spanish ruled countries, all the powers were vested in the hands of
Supreme Council located at

GlupuTaD svGuafla o rFTed gysTrUl L BT(HSalsHT HSSTTD, 2 WrSlsTT
055 gGursmans Guall JGE53)- 655 68 Bl6HS FLb.

Options :

Berlin

G s8l 66T
1. %

Lizbon

&Gl a70 LighT
2. #



Madrid

3 Gur_m

Paris

urisi

Question Number : 116 Question Id : 7150533026 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to this, no European power would be allowed to build the colonies in the
American Continents and the United States will not interfere in the affairs of
Europe or their colonies in other continents

sThB6uTH 2Crrutlu F5556mh 26w llsss SaTLSF 0D 2SI BTHS6M 0D
STl BT ZsmiliusHE0. 2Crridu B penDSaflsih WHD HeiTL_Biser s
B ms @ srevatisafiab smevull iy wrsl. steirn UG S i

Options:

Marshal Plan

LOTTT 61360 ﬂ;'_J_L'D

Munroe Doctrine

WwsiTGmT GlH TsiTen s

New Deal Policy
Hgl PULBSE S 1L 1D



Carter Doctrine

FTi i Glasrsrens

Question Number : 117 Question Id : 7150533027 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Chinese allowed the Europeans to conduct trade with China through this port
oGrruflufssr 85T susnllasmssF FaTTayL 6T BL5F FarT Y53 FHS
SIPD(pHLD

Options:

Port of Shantou

FTTEIL_TsU FHlsmDIpSLD

Port of Hong Kong

AN TEIS TR &M D(LpHLD

Port of Macao

GuGsT HlawDLpSLD

Rocky harbor

TrHSH anriuif

Question Number : 118 Question Id : 7150533028 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Among the following, these adivasis lived n the forests of Odisha

LilsiTsu Heusmsummlsv, spflFTailspisirer s ST 1960 suT(pld LILPBIELg uilsri
Options :

Baiga and Muria

sMUST WHDID wilwr

Kova Reddy’s

Gsmwm GlrL_1gHsir

Saora Adivasis

FEUTTT LILPEIEHLg SHsiT

Munda Adivasis

. (LpswaT LT LILDMI (19 & 6iT
4,

Question Number : 119 Question Id : 7150533029 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the cause for the first world war
LilsiTsu (Heusireu M Plsv, PpSUTD 2 VS0 CUT(HHHS STTNTOTSTS Fn DI

Options :

1. &



Militarism caused tension between countries and rivalry as they struggled to
outdo each other as the most powerful

BT (0% 6155 &6 SBIFET LeDL_$5 Den YLD pHedsnT afl F55)] su Tl FeuiT s
eTeTM ST GUTSAlaTsd BT (H%EMSFH6T GUTL Ly L06TLILITTem oL

USHD L B HHSS!-

Imperialism was a motive of making countries stronger and more powerful
which led to tension between countries

STHTFH LIS FTLTH LoTDSBsuent(HGlwsiTD sTaienTid BT(HHsmaT
susflsm DI em L IISTEUTH YLD DD BlSTaTL STHaD WTHNS
sTrewrwrillFHEESTH BTHS6EHS S USDDSMSWD GUTL 19 sn D

ThUGsF

2. %
Alhances were mutual military agreements between nations which led to
tenzion and rivalry between countriea
BT (DB EMSFH6T LTsvUT 3 Tremisy pUiubSBssT GIFlig, L L swf
sTHURSSS GlaTanrL g prHseEnsE B Cw usHmepe Guriigujib
sTHURSHS S TremrioTidsr.

3. %
Sinking of American Commercial Ship by German troops
Glooi el TTamisusSlamt 6wTiEs susmilss SLLM APLDSIYHBF
GlFIISSHTED,

4 23

Question Number : 120 Question Id : 7150533030 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In October, 1917, the Soviets under the leadership of this party seized power from
the Provineial Government

1917, m14CLrui wresss CFrafiussls) THTT Y THsaflsT &S STTHmsBLI
unlsa15 sarg s Fullsr i QsTanm( uGS3.

Options:

Menshewviks

| % AN 2 VE T

Bolsheviks

GumsvFlallssn
2.

The king. Czar Nikolas II

S TFT 25 FT BlHHs0TeN
3. %

The Democratic party

SETHTILSS HL_F

Question Number : 121 Question Id : 7150533031 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Adolf Hitler assigned the responsibility of economic recovery to this economist
RuTmsTTHTT Bmsvsnw LG RUusnsTs, HGL sl arflsof Glurmiliy
Y55 BB CUTHTTSTT BLjsnri

Options :

1.4



Hjalmar Schacht

ANFaU DT HFHL

Wilhelm Ropke

allsuBlHs0D GrrGs

Norbert Thorn

- GIBTGluTL. GHmi e

Alfred Muller Armack

S0 (LpsL6VT 9y 1Dk

Question Number : 122 Question Id : 7150533032 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This person was appointed as the constitutional advisor of the Constitutional
Drafting Committee and he later became the First Indian Judge n the

International Court of Justice in 1950

HrFwssniyF FUL susnrayd Gupallst Hrfwamuliy & CaTFsrTs
pudlssuul ® Wer 1950 Bla sruGss Balwsarnssls FHursrrs

Buflsslul L upgs @bgurallst lurst
Options :
Md. Sadullah

- (Lp&H LD H] sgngﬁﬁma.T



B.L. Mittal

Lil.eTeb AL 1L_sb

D.P. Ehaitan

- 1311l sm&5 56T

Sir Benegal Narsing Rao

Fi GlusTHsL HrFmIS TTsY
4.

Question Number : 123 Question Id : 7150533033 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The term ‘Tsunami” has been coined from the Japanese words ‘tsu” and ‘name’,

which means

|'1 " - @ .\ ' GEF * ) ' . . o - . ,d'\l o .‘l|
FEWNTID! 6TEITENILD ol FT6D DUILITETIET $d WNMID Hlold 6TaTID blFTHHATTEL
2 (HAUTSSLILL L & 9F6T GlLmhsT

Options :

Port and Tide

_— FIsND(PSHLD WHMID BjsmevGIITLL 1D

H.’]l‘bDLll‘ and waves

5 HLILIs0 MM mm@m gqsmrmcﬁs'rr

Port and Sea Waves

3 % g,jamg@aam L[:-'I'DQJL:D HL_sD gmsuaash



POTt and Qcedn CllI‘I‘El]t.

Sl (S0 LHNIE Gsmew umilsy/ gsnaal &

4, %

Question Number : 124 Question Id : 7150533034 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The International Cricket Council (ICC) was shifted from London to

FrouGss £Ns05. ss5F6T SemavenwiusD F)svarLeaflsl Hha wrHDILLL
Bl

Options :
Qatar

1% HHHTT

Sydney
FL_snt]

Dubaz

g,julru'_r

Mumbai

(r__pr_bun'u'_l

Question Number : 125 Question Id : 7150533035 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One among the following was NOT the women members of the Constituent
Aszembly

UlsiTeu Husut Hafls sphsud wiHib g rFfwsosnwiller FULFmuuilsd Glusir
o _miillswrrs @)svsney. gsui

Options:

Sucheta Kriplani

: #GF5T S (HUsTTSHT]
Sarojini Naidu
FGrmedlef] BTy

2. %

Durgabai Deshmulkh

- itsrumil GHsigps
Annie Besant
9 siTet] GlLIFsiTL

4.v

Question Number : 126 Question Id : 7150533036 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the Government will not be run on the basis of any religion. Citizen will

have complete freedom to follow any religion or no religion at all. It means

Bbsluralls) rFrars sTHS WHSS 6T HglusnLlaib BmLEUDTSI. F3wEHsT

SuIFT aflHrILSF6TUY P WSHMEL LisTUDDCauT 6THS LS5HMHULD
dlsirtupmrwsd B mesaCar e flenwwysrsrg. F)snEL Gluw.

:Yes



Options :

India 1s a Sovereign State

BbSwr @smpwTsaTsno HTH
1. %

India 1s a Socialist State

- BBsuT FwsTwe HTH

India 1s a Republican State

- BbswuT Gy wrs BT

India 15 a Secular State

Ay BBpSwur wsFTiuHD HTH

Question Number : 127 Question Id : 7150533037 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If there are differences between the two houses of the Indian parliament in passing

any ordmnary law, then the final decision shall be taken in

@bl UTTTERWSTHSS6T @) FanuSaTID THTUF P FLL S5 HH5L0

PopGaupmisugled Guniur® FGEST, Ybss LS Fnig el

sT(hld &L sumriliL
Options :
The Lok Sabha only

D& HEmsn e FH L (HGL
1. %



The Rajya Sabha only

L THISUBISaTemeU s S L (HGLW

The joint session of the Parliament

3 v UTTTERLTDSS 6T B)h FemUSeT Fml L i ailsh

The Cabinet meeting headed by the Prime Minister of India

4 % BsSwi Urswt semsvsnwwilsh BL GG HswnFFTensud Fnl L 5FH60

Question Number : 128 Question Id : 7150533038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Swami Vivekananda set up the Ramakrishna Mission with these objectives
Feurl ol CausTaThsT 6ThS CHTssBSmars GlsTsnr ([ (3 rrws Hsiysnrilagsnsr
sTHUBRSSleri.

Options :

To male the people believe in one Supreme God and to revive a reformed
Hindu Religion

2 WIS HL 6ysiT psiTleir L H WHHEHHEH BLLSS 2’ 1y FTH(HSHOILLL
M B)bsl WHS5MBS SLU_L LIS

To malke the people engage in Social Work and Social Service for

International Reconstruction

FirauGsss s Lenwlsnu Grrasln Fapsl uswiluflab Fops Grsmauuilgib
& Hemam FHUbSHI0FH



To revive a reformed Hindu Religion and to engage in Social Work and Social

Service for national Construction

Absinssmas FT55HS53 L1 6L HUUSHEFHL pn G5 Henwlisnu
sTHUB S wasHEamard Fepsll usniilsb Grsmsaunilain FHLHSZHaS
3.

To preach ahimsa and to revive a reformed Hindu Religion

. S FbanFamill GUTSH S5 FTHHSSLUL L B)HS WHHmS 6L 6L HIILF).
4.

Question Number : 129 Question Id : 7150533039 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The Mushm social reformer who started a journal Muallim - e - Niswan for
Writing women's issues
BusimssT LITFFmarsamsTLl UND! sTSIMNSDHTS (P2 s0s0lib-F)-BlsiosuTsit sTsirm
Bsamps GarLmsu @svsordlu FupsFfislHss aurs
Options:
Mohib Hussain

Gurar( ay@snFsir
1.¢

Abdul Quayyum

- glﬂg,js‘u .:a_r]u'_m_nrr_b

Sir Sved Ahmed Khan

. Fii MFIWFH] HLOFH HT6IT
3.



Nazar Hussain

. B2 T QUIyE) 6w FeiT
4, %

Question Number : 130 Question Id : 7150533040 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It shall be the duty of every citizen to maintain ‘the unity and Sovereignty of
India’,1s a

@B3w EHmwLUTL L G)snwTsnmsnoub STouThnisugl @63
BL3L0SH6IT spsil Blou T(HsuTIST SL6MID 6TETM Fon DISUF

Options :

Fundamental Right

o SlglusoL 2 flsnwod FLLID

Fundamental Duty of a citizen

Wy &Ly LS H6M 65T 919 LILISHL HL_sNLD

Directive principles of State Policy

BTL 1y 6T Gl&TsTemsuilsit GHriy ails)

Economic Right of a citizen of India

n P(F GlyoSeuflsiT GlUTHeTTSTT 2 _flsmio

Question Number : 131 Question Id : 7150533041 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

By 15t August, 1947, these three princely states had NOT agreed to sign the
‘Instrument of Accession’ with India

1947, gysevl 15 gyib mrsr gysirm @HSlw s GLr(h B)swenriu wni55,
M&SLIIPSFIL TS APsiTHl LD TIH 0B S6T

Options :

Hyderabad. Kashmir and Jodhpur

MADSTTUTH, HTeiglfT wHnib Corsd i
1. %

Kashmir, Mysore and Hyderabad

STaGLIT, MIDEGT WHMID MADSTTUTS

Raipur, Kashmir and Hyderabad

. TTILLLT, :SSTEI-_Q:LEI]'" WHMILD sHADHTTUTS
3.

Hyderabad, Kashmir and Junagadh

MANSTTUTSH, HTalT wHNID ZDaTTHS
4.

Question Number : 132 Question Id : 7150533042 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Election Commission of Indiais a

BbslILs GHTH60 Y,meMTILLD TITLIGZI sp(H

Options :

1.



Quasi- judicial body

. SLRUIUL L (F B BswIDLIL

Judicial body

, u PO ey

Autonomous Constitutional body

FoirerTL_ & GluHm B TFwsv yemioliy
3. ¢

Statutory body

n FLL @Immi_'n_;

Question Number : 133 Question Id : 7150533043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From among the following. identify the country located in the Indian Ocean
Ulsitsumeusmeun lst, BESILSTFPSH TSHI60 DL BSI6TT BT (D

Options :

Madagaskar

DL HTarST
1.4

Taiwan

) % DB T&iT



Bermuda

« U epLT

Jamaiea

“ M IDES T
4.

Question Number : 134 Question Id : 7150533044 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rate of GST for Televisions 1s 18%. The maximum retail price of a TV is
Rs. 70800. The amount of Tax to be paid to the Government for purchasing TV is
OsTmasHTLFlSHTar 2lstavly aflfsh oyarsg 5% gy, m

OsramevsaTe Aullsr ylsur s alhusmer aflsnsy 70800/ - srstpmsd 9
BFTMEHTLF uTRIFIWSDETS TN EHF lFanssw surl

Options:

Rs. 12744

a5 12744 /-
1. &

Rs. 10800
, » @ 10800/

Rs. 9000

e 9000/ -
3. ®



Rs. 14744
em 14744/ -

Question Number : 135 Question Id : 7150533045 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT a Characteristic feature of Developing Countries
UlsiTau(BLD LTSS nISeilsh spsitnl WL (HID susTihgisu(HLD BT I3NSTATE 60,
SiBbSLI LswTL

Options :

Having Low Per Capita Income

GHMDBESUL F5 SavflBUT supTarDd GlunHmlmrug

the problem of Unemployment and underemployment is observed

Gausmsvuilsirsmols LlrFFsnarujld 553 HmDHES Gausmsy & rsmrliu(hsuHIib

Presence of excessive dependence on agriculture

allsuFTwSmsCIW HYBFOTHF FTTHS (HSH6D

Having Low growth rate of population

& BTG Tem S WaTalls) (HMDHS 9 emTGsu ausmiF5 2 snL_H6D

Question Number : 136 Question Id : 7150533046 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Among the following, the rate of interest is higher on these deposits in India

Ulsirsupeusmaun s B)hswrallst g FlslLgwrar sulig Sroufib
meulilS 6l Tems

Options:

Saving Deposits

Cxruflliy smeuli56l5Tems.

Current Deposits

BL LI snsulil56l5Tens.

Fixed Deposits

- BITrbST snaulils6lsrens

Recurring Deposita

4 % QBTLT snaulis6l5TemS.

Question Number : 137 Question Id : 7150533047 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India. the biggest commercial bank among the following 1s

LilsiTeumausreuHmlsv @Bslwrallst s Gluriu susnils sumifl
Options :

Reserve Bank of India

faisy GuBIs g GHFwT



State bank of India

svGL L Gumis a1 @)BSwr
2. ¢ '

Axas bank

- o Serdlst GBS

ICICI Bank

. m.F.2.4.20 Guiis.
4.

Question Number : 138 Question Id : 7150533048 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One among the following is NOT the function of World Trade organization
UlsiteumausmauHalsh sThsF GlFwsHLTH 2 0% suswils genwliilsisnLwg F)soamso.
Options :
It provides monetary support to the developing countries to enable them to
conduct trade freely
susTT b3l 6U(HLD BT(HHEMRS S Lswt 2 Fall GlFig gsutsaflsir susnflss

1 & GlFWLITRS6T sTafl5TS BLSS 2_FH6sug

It seeks to resolve trade disputes

susmilsF GlFwsuuThisstlsh aHuUBD UlarsGsaners $iliug)
2. %

It acts as a forum for multilateral trade negotiations

UUSTOUL L suswilsd GlFwsvurhisstls) Fie6) STamib susns wilsy
GlFwsdLI B sugl



it ensures that trade flows as smoothly. predictably and freely as possible

SUSHTIHLD 6TeMsNLDILTHEYLD sTHTLIUTTSSUIG UL FSHITLTS HLLUILUSD G0
piybhs susnTwilsh UTT 5515 6% Tsirsug)
4. %

Question Number : 139 Question Id : 7150533049 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

By this policy/commission recommendation, Continuous and Comprehensive

Evaluation (CCE) was made mandatory to introduce in schools as an important

step of examination reforms and for the qualitative improvement in the education

system

Bnss Csrsrsnswlst surulars, Gsie FIs5HHS5wTsaD SroTar Sallamis

Oarampamh Crrafan soall gyamemul GFTLT wHnb sefl wHOFE
yampsmws (CCE) siall papuilsd s L rwwrarsrés unbaismTéss)

Options :

National Policy on Education — 1968

CarFws Hevalls GlaTarens — 1968
1. %

National Policy on Education — 1986

5 CapFAws Hsvalls GlsTsrens — 1986

)

Secondary Education Commission — 1952-53

3 % Gusvplensvd Hsvall gy ememriin — 1952-53

4. %



Indian Education Commaission — 1964-66

Bbglus ssvall gy emswrun — 1964-66

Question Number : 140 Question Id : 7150533050 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
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‘Development of right type of behaviour and conduet’; and ‘skill of finding solutions
to the social problems’ respectively are known as

FlwuTar upésh wHnb BLimsuilst auarsdd wHnib FapsullrFFmars s s
SToyFTemID FDID ZsnpssiuBaug wamnGu

Options :

Both are aims

TeusT(RD & 0)EGs Tserssir
. (HLD &

Both are objectives

@) renr R GHTS SRS 60T

Objective, aim

GrrHsil, HDISGHTsr

Aim, objective

GDIEGHTsT, GHTHSLD

Question Number : 141 Question Id : 7150533051 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement i NOT TRUE related to merits of spiral
approach?

Ulsireupio smphmisbsafisd sitn Fmsraul L gyamgpampullst oy updlug
B6060. I 6THI7

Options :

Content difficulty is according to the level of students

2 6TaTL_&5LD Sy GTIOTETS) 6T6TLI%] DTMTsUT S6iflsiT Blsmsvamiill BlUTnIS 53!

Teaching 1s done based on the student’s mental level

5 % &DLlS S50 WTemTeutSaflsir wamplensvuilsit gy LinsnL_ullsd BLSH DS

Due to continuous repetition of content retention of concepts in students will

be for long time

2 STOTL $HITaTH F(HLUSSH HOU suFHLEUTS, &HS5I VST LDTwTeUT ST
LDETHI6D BT HTSS DG SHHenaubHLILHID.

Logical /Rational thinking will not be improved among students
FTds THwTer | uFssDea FHILTar sTaTsnrlh WrenTeuiSeilsnL G

Py,
SUSTT F&F IWWaW L_ILIT &H].

Question Number : 142 Question Id : 7150533052 Question Type : MCQ Option Shuffling : Yes
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To show the crops grown in a village for one year. this graph 1s most suitable
2 AT om emrhsen vt CQFiwiu@bd uwlfst susrTFAmus
STL_(HIb QUT@,&,gwrrmT aUsmTLL LD,

Options :

Pie-graph

WM LI= suem TLIL_LD
1.4

Line graph

CaETH susHIULLD

Bar graph

(HMIF (& eUsnTULLD

Time-line graph

&HTeVlb-GHT(h) susmIUL_Lb

Question Number : 143 Question Id : 7150533053 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Constructivist approach focusses on the following things / aspects

S SHULTLTAT e Gpmn arugl Usteumn mnismer  OUTHLSmsT

CrraalusTEib.

Options :
Developing a situation; Transmitting knowledge; Exhibiting and reflecting
DM GO suaTT5560; gflsmsull UriYss); STCFAU UBS5550 LHDID

oTBI6 T eIl $ 560
1. %



Creating situation; making class as a whole; Questioning; Exhibiting and
reflecting
D HLML 2 (HAUTHGHIH; su@GHUsnU (LPpIPsnILTSFHH; CHsrall GHL L 6b;

STLFAOUB S50 HNID sTH Gl TerSH60

2. %
Developing a situation: Grouping; Questioning; Bridging; Exhibiting and
reflecting
D(H @GP UTTH560; HLEUUBHS550; Goerall G L 60, LM
v Blsnems560; STLFALUBH S50 HNID o736l rTers5sHe)
3.¢v

Knowing famihar situation; Observing; Questioning; Exhibiting and
reflecting

E5THES HFwsmsw o lbF HHH0; SsusafSH60, GHsirall GHLLsv;
STLANURSS1560 wHMID 6T GlrTefiSHs0

Question Number : 144 Question Id : 7150533054 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following tools should be used for Formative Evaluation (FA) at secondary
level
Gusb Blemsvdssvailuiley susmi w1y sTCUTE LwsTURSS CousiTigw &(HallHsT
Options :
Teacher reflections; Children participation; Slip test and project work
g Aflwutr aglerrefliy; Gebmassaisr umGsny; HaThHs Frar Gsieay

wHMID S L iusnf Csusnsw
1. %



Children participation; Responses, Children’s written work; Project Work and
Slip /written test

Gubmasst UBIGEDY; wnIGWTY; FYHmsHafsT sTudHI Uswll WHDID

- ST DSBS T6/ TS SIS CHT6y.

Portifolios; Project work: Children responses and Slip test/ written work
aflsuTdGDINCU®; L Liueni Gsusmsy; FLHsnsssr wniGlnryd,
2T (DSsTsT Coiey / sTipsz Cousmsv

Teacher observations; Children participation; Responses and project work

AW ssuaflliy; Gubmassr uBGsny; wniblwry wHnih F L viuswi

fa:d
Goausmew
4, ®

Question Number : 145 Question Id : 7150533055 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s NOT one of the advantages of social sciences?
Ulsitsu(pid Fmnmisssitiey Feps nlsilwsilst Aptiurarsrs G Tss

Options :

Social sciences provide education for effective citizenship

Fops g nlaflwst ANUIUTST Fg 0SS EHFEETHT Saoallsnils FHA DS

Social sciences help m the development of values needed for democratic
socialism and secularism
Fops el maThTus FSTLSS NG wsFTTLlsTamwsFHD CHemeanursr

5 % ol pSIBISemST susTT &5 2 H6S DS



Soclal sciences are helpful in developing language skills

Fops g plalliusd GlriflsSnsTEensT susTi s 2 56 AlGTDHI.

Social sciences are useful in developing awareness about the problems of the
soclety
Faps  golallwsdd  Fepsh  aFliGsTsTepn  UréFmersemeart  upplio

. aflfitiyswriensy sTHURSSL LIWsTUH ST DS).
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Question Number : 146 Question Id : 7150533056 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study of biographies of social reformers. freedom fighters ete develops this Iind of

values among students

Fops FI3HSSUTH 6T, FSHSTU GUITTLL af 1T H6r wHmb B)sutsst Gursiry
PHDeuTHeMsr suTpSmE auTTHOIL Uigliy wrensuissfmL G sHuUBSHD

BUITTITEAE L 8
Options :

Inspirative values

< SH0LTeu allapflwisissir
1. ¢

Interpretative values

5 % allemd @ ailp ilwsssir

Vocational values

. G L uswfiésrer el ol wm ssr
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Disciplinary values

PS5 ol (oL Wk FsiT

Question Number : 147 Question Id : 7150533057 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This active verb comes under procedural knowledge level and remembering
category of cognitive process dimension

BenL_(1psnm Yynised Blansvwllst ynlsysssrsslsr Blawergs Liflallsy sumbd GlFwsd

allsm T
Options:

Tabulate

L 1g weldl (B

Classify

DIEOEANTE T

Explain
3 x olleTSE

Summarise

CIBT 5515 nI

Question Number : 148 Question Id : 7150533058 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s NOT TRUE related to psychological principles
of teaching

Llsitsupid s ppissaisy snLlsseist o srallws) Cariurl e GUTNISS susnr
2 amsnwulaTss) 5

Options:

Prineiple of variety

susmEBamind GaHTr_um(h

Principle of motivation

pargE£E CHETL_LITH

Principle of progressiveness

3 @ WPHEUTHFHSE CHTLur{

Principle of recreation

M 2 (Heurssds GaTiumh

Question Number : 149 Question Id : 7150533059 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘The gazette extract published i news papers’ and ‘Judgements of courts’ are this
kind of sources respectively

‘Yrfsls aupg OFLFlSsTrHaisy sumb P SHausisr 2 I GurmsT wHmbD
B AlwsTnSSlsiT STUYST WennCw @53 susmaaninF GFiHHmal

Options :



Primary source, Secondary source

(LpHEATemLD B HTTLD, HISHEMTENLD DY & TTLD
1. %

Secondary source, Primary source

5 HeMEMTEMLD S FTTLD, (LPHHTeWLD B HTTLD

Both are primary sources

- B TenT(HID (LpSHETEMLD YT T BIS6T

Both are secondary zources

. BTt (HID HieHEMTEMLD &, S TBIH ST

Question Number : 150 Question Id : 7150533060 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In this phase of concept mapping, students find out new illustrations by thinking
and get complete understanding on various things

Bb5s HLL 53160 &S ausHTLL SF6T suTuilsvTs Lomewreui Hei
allsTdsLILL Bissnersd OsTanh FbIlsHa)b Us BIUTHLSMaT (PIDMWITHLI

Yfbal Glsmeremsyld iy S maI.
Options :
Phase-I. presentation of abstraction

SLLLD - | : msuliGlurmsnsT (LpsiTensus e
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Phase-1IV: closure

sLL1b - IV : apigey

Phase-II; propositional phase

S L1b - 11 : gpeir Glomiflsst

Phase-III; application

S 1b - 1T : ey emrsd
4. e



